{3 Homrs)
ME L) Qruestion no, 1 s compulsor?,
23 Sulve any three [oom remaining five quesrions,
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(). P. Code : 25648

1T1Jt:|.l Marks: 50|

1} Drew neat skelches whersver reguire,
41 Assumne suitable data f reguired.

<o AL Explain Solter and soll handeff in COMA. 5
[} Define open loop closed loup and otiter loop poseer conlrl, =
C1 o Explain concept of HSDPA wrr, WCDMA, 5
Iy What 15 the role of GPRS (%07 5
LAY What is lucalivation in wircless senser netwoik? Lxplain with gxamples [0
cenralized and Disteibuted schemes in loculizaticn alzorithms
Bl Give the distributed radio sccess neswark averview. Explain in detall 10
functions of node 3 und BRMNC also druw LT RAN Toieed architeeune.
i, AY What ks UMTS? Liste impu::-rla_nl featores &UMTS air inteefuce. 1
By Lxplain middleware architesture. 1]
1AL Draw and expluin CORMA 2000 evelution prieth, 11l
Bi Usmg traflic duta per cell for a GSMAGPRS netwerk. culenlate 1

Lal data Lrlangs, (b) Gite slat {15 ) wilization, and 12 TS capasity.
Lisg the [olowing datac:
Mool BTS; 40
¢ Subscriber usage per mionth: 130 winutes
»  Days per manth; 24
v [usy hours per dasy:
= Allucated spectrum: 4.8 Ml 12
= [meguency reuse plen: 4412
« BRI chapnel width: 200 kbz [ iull rae)
*  Present number of subseribers in s zone: 50,006
*  Subsoriber growth per vear: 5%
»  etwark rall-over periad: 4 years
* Numbcr of packet calls per session (NPCSY: 3
= Mumber of packers withina packet call (NPF: 23
*  Rewding time between packet calls {7} 120 5
o Packet size (NBP): 480 hvies
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Q. P. Cade : 25688

3

s Time mresval between two Prackels imside 4 packer eall £ T
0.0l =

o Tutnl pacliel service Belding e during oaehoury Tty
2000 5 '

* By howr packet sesgions per subseriber, 0,15

*  Averags call holding tme during By bt 1240 seennds

* Mo ol mansceivers (1Xs) percell: 3

*  Noool TS per cell for signalling; 2

= Radio link contol (K103 efficieney: 80%,

»  Toral pumbers ni‘tmﬁ_sm‘jned reed iy bafowkes: SO0

+ T5s allovited far dulu-tratfic's per ool 3

= Tats thrwughpns per selli 155 ks

" Wodce matlicper cell: 842 Erlungs

2o A) Describe the mods! of witdlesd sensal nelworks What are the tactees 10
mrhuenving desipn of wirsloss gear noreochs
Bl Raplain hack ofT élpetithon why is CF MA-CD ot psad in WLAN £]

b, Wrine short note on tany L) 20
Al IERE 80214
Bl UWH terhnoloay,
Ly ZigBee Technolopy.
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Q. P. Code : 27207

(U3 Hour] | Total Marls: 8]

B

11 Crestion Mo, | is compulsory,

i) Altenpt any threee frofm the remainiog questions.
li} Azzeme guiable dats \f pecessary stating it cicarhy,

izl Why do we nesd network managemeint? R
QLIhy SNAMP v comnaands? -,._-1.;__:'-7.
{3 1.4e) Whar is CMIP?

{.1id) What s role of event correlation techoique tor root cause analvsis?

0248 Deseribe Two-Tigr and Three-Tier netwoerk manapement oreanization maodel,

LZbY What is the difference between Accoumting Managemen! and Performance

management?

Ch3.0a) What 1= broadband network mansgement?

023,001 List and deseribe cmerping Web-Hased Enterprise manapement (W DEN) standards,

{21.4.{a) What are the capabilities of RMONZ over RMON1Y

(4.(b) What 15 Scoping and Filtering in CMIBACMIS network management standard?

(2.5 {a)Demcribe SNMPY3 poboey-hased security management?

£0.5.4b) What 13 Manazement Information Tree (MIT)7?

Crbdad Draw o neat diagram of TMM layvered srohiteciure and explain in detail.

(.64 What is fanlt management? Deseribe five steps process in fanll menagemean.
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~ 2. P. Code: 27164

(3 Hours) Max Marks: 80

Q\:i____ MnEs “A. Question No. 1 is cumpaliory
2, ut of remaining guestions, attempt any three questions,

3. Assume suitable sdditional data if required and justify. the same.
4. Figures in brackets on the right hand side indicate full marks.

| Ll (A)  Compare MMIC with TIMIC, - (15}
(B3 What 15 Oprifnum Luading and desceibe the need of it forMiceowaye (03]
Amplifier,
| (Ch Hisw coupled line parameters vary with frequency? {13)
(L List and explain various performanice pardmeters nfmnuu (k3
D2, {AY Explain vsing switahle diagrams tvn mc:th-:-rlﬁ of ﬂ-:s;,-,mnq [-.ur:m dband (8}
amplifizr, -
‘5' r (B A BIT hus the fallowing S—pd.mnh::t]‘s A5 4 TUJ1C!.|||J'|, of three frequencies. {172]
. Determine in whicl of these cases, device is unconditianally stahle and
which has greatest stability, s ¥
Freq. | iy K2 Fag X2z

(MILe) ;
‘ SO0 0.0 =57 0.04 £ 470 | 105 21367 | 099 2 - 37
| 750 | 0See 78 045 235 | 562 123 T
| 1000 5 ﬁ:ﬂi._a; s g7 J{Iﬂh }12”' L7 uzﬂ |n 37 £ 48

(L3, (A}  Expluin Green™s Function and disenss its ﬂpplu:ahnn {10}
(B)  Derive the Lransducm poiver gam as, (10}
- g et "Tsl L=17%) |‘_
i SRR R EES T e g
Q4. ‘Design o c:!ass .-'5|. power amplificr &t 900 MH: using mRF-8385 NPN (20
‘ . teansistor with i “output-piywer of 3 W, Daiign inpet and output impeduance
- malching Emnmbﬂhrﬁmfdlf orr Find the r:qum::d input power and compun:
the pswer adided efficicncy, Use the: wiven S-parameter Ly compuie soure
; ' EI.TII:l. lomd-reflestion coctficient.
A AR Discuss migrooeave amphifiens versus miceoweve oseillatars, (5
S5 ABE - What is comipressed smith chart how it is useful in microwave design, (05}
(CF DE'-HEH ome port vscillator using wnnsl dinde with Tin = L5 Z40%ar 8 (1)
#GHx m 516 £1 syvatem
(0. (A) Faplain in demil single ended divde mixer. What are mixer desian  (10)
(B} considerations®” (1
What are the advantages of MMIC over HMIC? Alse deseribe the various
miatérinl selection criteria for MMIC.
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). P. Code: 27442

{Time 3 HHours) [Tartal marks: 80|

NBE: 1) Omestion number 1 is compulsory
2} Aupswer any three guestions out of remaining questions |
31 Anpswer the guestions with sultable diagrams

41 Assume suitable data wherever necessary

| Answer any Four- 20
{a)  What advantage random gecess has ovor fived acosss? -
{0l s the velacity of satzllisz canseant in an clliptic orbit? Justify your inswer.
(¢} Explain why some satellites cmploy ovlindrical sofdr greays, whereas
others employ solad=satl arays (o power gensrmiians,
(dl - What is the wse of multi-tene fracking svstem
2 fer  Why is o necessary 1o ecnploy antenna teasking in Farae ealth stariona?

2 (8l What are the functions of thermal sub-systenis in satellite? 1173

(B Why the control systsm in satellite wails fer Hrfn:mﬁdlli:_mz[mmﬂd after 04
recervingy the Lum:md.nr_l Luble execuled ?

(€] Dhscuss i detw) TJ:]tm::tr'..l Lrul.junb anrl mmm uqd 1.-.-Llh .11El'_l.'.'"-lh.;|.r'-' Block 1

diagram. s - : ol

3 (8] Praw and explain w m:i-.in;-gr of Tranamit and receive.gpe ofearth stution., O

(b))  Why in satetie TV IECETVIRg FFSRemy adembdulstion/remadulation unit 04
is needed? -

(e} A geastatiopary satellice ansmits 5 W of power with ain zntenna having e 1
gain of 2848, "Fhe downliftk is operated at 46hz and the receiver antenna
is & dish-with dismoeter of 1.6 m, Cotnpute: the EIRP transmitied and the
power-teceived by the. receiving statidn, Azsume the receive anteana
Efﬁci-.f:m::.-' 1o be 0.7 and all-the vther losses to-be 2dB

. 4 oy Welte short niotes an y 10
L} Lister modulation distoction an-] back-offin satellite communication.
72} Combined uplink and-downlink ©0 ratia.
(hl - Explain Initial _'&mquir,iﬁnn in gechnigue in TTIM A system. 1

5 0 fa) " Cxplain on board conrsctivity with Transparent processing. 14

b Discuss OS1 Model Tor satellites Network alse discuss Tavering principle, 05

(] Whatare the different confipurations of VSAT network? What are their (s
advantapes and dis Bdvantages?

0 Write short nozes on any Fowr- e[}
~ {a) Opfical satclite Transmitter and recciver
b} Asynghronous Transter Mode {ATMK) switching
for  Unigue word detection
() Tmprovement of reliahility of satellite communication systern.
¢y GPS
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NB: (1) Question No. 1 is compulsory.
{Z)attempt any three questions oot of remaining five.

{3Figures to the right indicate full marks,

e

(4)Assume suitable data if required and men t_in'i[ the E_ar_né' ih-:_m:-;wer_:-:ﬁqet.

i

(.1 Salve following : _ (20)

(@ Explain how TCP use for flow contrel: ;
(hiFxplain the concept of fragmentation in Tntert ﬂl:lnrr':im:lﬂh..ﬂtji'lﬂ
fe) Commet un notwork space and host sl:ra-;.i: el in gnlcnmrhmﬂlaw-..] 3
(d)List two functions of each layer of TCPAT protocal suite,

N

(-2 1a) Fxplain in detail I TP and TETP: - : i : : (10}
(h) Explain with neat dIMﬁm Lra.[i‘-;.m;;m:ﬁla[m o I,'JHE‘I: o (1)
Q.3 (a) Explaun Karn's tl[h:unlhm n fIi:iall £ .'_?-.'. :.r ?J_H '-':;- : .. ¥ (1)

"' ". " ."\-\.-.\,

{b) Lxplain the LU]‘LIlLI;..tlL}H ﬂitgjhlmhment.dmaagmns‘fﬁ ﬂnd w:mtzchun lermination

phases af lLP f' e i s (10)
0.4 (a) Explain .’L:H:ietaﬂ thﬂ J:-LP. B .:--*; = *‘L:__‘ _:__--* (10)
(b) Explafnin dﬁaamrﬁpﬁq@ formal, s (10

(.5 (4) F:-:[:]a'm ‘I.‘hﬂ‘ ﬂfffﬁmntmrgepn;tmg mt‘sﬂﬂgu;,s m [CMD with message format, {10}
( b] Expiam wrth naardmgr;m IP htﬂ‘ﬁﬁr mnn‘aL (1)

Q 6 {a; "Fhat is thc ﬂﬂﬁti cif d ‘g.ﬁiz.uig ﬂf f‘huﬂlﬂ i T S ek
E plam "n-"IdEED E_AJmPIt.‘-.';-SIﬂﬂ {ﬁ.r‘I'FF"ﬁ] in detail. (10}

"

[|:5'J Diseinss the difTerent tLEhI'I]qIJﬁ‘i that can be used Lo improve the guality of

service (GoSy. (10}
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